1/N,, dN,, / dp_ [GeV]
= - B 5\’

=
<

<
N

[EEY

Ratio to CMS

Rivet 3.1.0, = 6M events

mcplots.cern.ch [arXiv:1306.3436]

N

900 GeV pp Underlying Event
[ I I I | I I I | I I I I_
= Charged Particle P Spectrum (pT > 3) =
= . g
= \!\ =
— h.§ -
= 8, =
- - :
_ o _
= N =
= N =
-~ 8. =
— \\\\ [ —
= "B, —
= . = =
— m CMS SN = -
__ --0O-- Herwig++ 2.6.3 default @ u __
= --{3-- Herwig 7.2.0 default R
- ey H

: <. .
| \8:1'2@:_::=§‘\ . _|
L RSN i _

-8 s
1 - \\Ij]
1 1 1 | 1 1 1 | 1 1 1 \d\ |
0 2 4 6



	Contents
	Page 1


